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AL oo SII'STEIQ)}@ 4 ohg Bl (2 pls dbl e Iy L ), 1L s 9 (60 )y (y9>

u,=ob u,, =obP U=Ax+B
u@t) =T, , u(L,)=2T, b u :T0(1+%)

3 ans (17
b oot anly g 4 T sl o conl coli polie o pls 90 (g9, ALY dolee wly 5 009: 0 18 90 s 4>l
Ty =0P T=clnr+c,

A-B _ BLna- ALnb

T(aq)=A,T(bg)=BP ¢ = Lna- Lnb’ 2~ Lna- Lnb

1455 (18
USWHI(X) P Up =Wy, Uy = Wy, +THX)
W, =W,, +r®#x)+6x b rex) =-6xp r(x)=-x>+Ax+B
u(o,t)=1p w(o,t)+r(0) =1p r(0)=1
u@Lt)=1p r(d=1
r)=r=1p A=1,B=1P r(x)=-x>+x+1
u(x,t) =w(x,t)- x3 +x+1
345 (19
u(x,y) = Q¥ (A" +B,e"™)(C, cos(wx) + D,, sin(wx))dw
u(o,y)=ob C, =0
u(x,¥)= ISP A, =0
U(x,Y) = ) En€™ sinwx)dw
2455 (20

L(ug) =SU(x,S) - Su(x,0) - u,(x,0) = FU(x,S)

L(UXX) = Uxx (x,8) , L(d(t- g)) = e’gs

SU(x,9) - U,, (X,9) —ea
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- . v . —_ ~n ~~ C oy~

X
Up=Kea b SZK-gzlb k=t

1
2 S 3)

Lays(21

Wl 2L LT glis 0,90 5 Wig o 00l Loy 5,3 Sjso a4y =L, x=0 s>, f
U ) =3[F(x- 9 +F(x+ 0] +2 3 ds
uex,b) :%[f (- L)+ (x+L)] +%QX>+LL 9(s)ds
QXLL g(s)ds = (‘)LL g(S)ds =0
f(x- L) =f(x- L+2L) =f(x+L)
u(x,L) :El[f(x+L)+f(x+L)] =f(x+L)
3 an55 (22
ol asb 0 (12) 4SS (4) cdl> alie X (55,0 dal
u(x,y) = né(Anch(\/K y)+Bush(l ) cos(yl %)

\/lf_(Zn-J)p_Zn-l
" 2p 2

u(x,00=o0b A, =ob u(x,y):é anh((zn;)y)cos((zn;)x)

n=1
_ox_2 2n- @n- Dx
u(x,3 = cos = § Bysh(Ce cos( )
2~ 2 2
B, = ,B,=0,n3%2
1
sh(é)
_ 1 y X
u(x,y) = —15'1(5) COS(E)

()
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pl_ 1 1 p_1 Y 1
uE.2) = —shoos®) =

1 4 V2o Denh)  2vzenct
() 28n(;)eh() 24/2ch( 2

13 (23

sl o oge ¥, X sl daid ol (12) iS5 (2) > aline 65,0 Lasly

U(x,) = A, +Bx+ & (A,ch(Bx) + B, s ) cosRy)
ol a a a

u(x,y) =A, +Bx

u(ay)=ob A,=B,=0n%1

u(x,y)=A, +Byx

u(ay)=o, u(,y)=u, P u=u,(1- g)
2 a5 (24
ol o (2) an 5 (12) x5 (2) > ulal

2455 (25

u,=ob u, =o0b U=Ax+B
u(o,t) =a,u,(L,t)=ob A=0,B=ab u=a

2 4,55 (26
g Aplg> 5 D ygo A Frwl g Al g COSWX 0539 bl by (U (0,1) =0) el o0y Bole X =0 y0 4l s>

u(x,t) = Q¥ D(w)e’ ot

cos(wx)dw
4 55 (27
oY L X i 5,8 ose L (12) 4G (3) o el

=T, =E 0

¥
u(x,y) = & (A, coshk, x +B, sinhk, x)sink,y

n=1

3 a5 (28
o Y X G o8 pse b (12) i (5) > bl

U(X,Y) = ¢ (A, SHWK) + B, ch(wx)) sin(wy)cw
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Ux\V1y) TVE oy v u\/\,]/fu LW I\ S v y javy

3 a5 (29
u,=ob u, =o0b uU=Ax+B
u(o,t)=1u(lt)y=2b B=1LA=1P u=x+1
2 5
"33
1ay5(30
ol plo aib oo (12) a5 (4) cdl> alin T (0,Y) =T@Y) =0 5500 Ly
_/@n-Dp,,
=( o )
Fo () = cosT ) = o052 2) 10 =123, K (salets L) o35 &y
2 a5 (31

el 5 Sy 4 WY Aol Fwl T(- %,v) :a,T(g,v) =b, Ty (U,00 =0 5 sl oll

T=Au+B,T(- 2 V) aT(p V)=bb T=2" au+b;a
T(E,V):a+3b
4 4

1 a3 (32
Ol ogli5 0,9 g 09 o 00l Jaws X =L, X =0 Jg> 8,8 &jg0 40 T ol cu(0,t) UL, 1) =0 6550 Jol i Loll

f(x)=x(L- x),0<x<L

x:E t—£ c=1b x- ct—-gL x+ct—£L
4 12 12

00

££)— §r(— )+ f(-— )H—EA(—L 4L)+f(-—L+2L)H

L 11 5L.0_ 1é 11 5L.u
— ) =5 (- — f-_ = ZH (= f_
uz )= g( )+( d Sf( L) +f(

oLty 20
144
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L=3 ,m :mlczzlﬂ :Zn_p
3 L 3

v »4n2p2
u(x,t):éAne 9 tsin(mx)

n=1 3

& . np . .
uix,00=a A, sm(?x) =10sin(px) - 6sin(2px)

n=1
A;=10,A;=-6,A,=0,n! 3,6
u(x, t) = 106 4"t sin(px) - 6e" % sin(2px)
U =- 1069

2
4 455 (34

. .M ) . :
&L cuy(x,0) =uy(x,@) =0 Ll s wlwly 5 Ri(X) :sm(?px) Soime @b u(y) =u(ay) =0 Ll bl

. n .
5 ze Jol> Fi(y) :cos(;py) o

¥ ¥ . ) m n
U Y) =8 & Apne ! ™ sn(;px) cos(;py)
m=.

1n=0
1ay5(35
f(x) =sin(x),g(x) = cos(x)
y(x,t) = }[f (x- at)+f(x +at)] oL O
2 2a Q-at
y(x,t) = }[s n(x - at) +sin(x +at)] ot ot cos(s)ds
’ 2 2a Q.a
Y1) = %[sin(x - at)+sin(x +at)] +%[si n(x+at)- sin(x- at)]
2 a5 (36

y(x,t) =sinx cos(at) + lcosx sin(at)
a

L(u;) =SU(x,s)- u(x,s) =o
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R G Y AR IV R AT ) -

5,

-y Xy
S- @k =ob r:iéb U(x,5) =Ae 2 +Bea
a

Js

-—X
limU(x,s)=ob B=0ob U(x,s)=Ae 2
S® ¥

Js
L(u(o,t)) = L("()) =U(0,9) P U(x,8) = L(n(t))e @

X2

u(x,t) =) —= e

2a\/5t5

x2

u(x,t) = it~ )—> e “ra

ZaJBt 2

U=TOXX)P Uy = TH)X(X), Uy = T()X&X)

TRHX(X) - T()X&x) = T()X(x)

m =1+ Xl(x) =
T(t) X(x)

u(o,t)=ob X(©)T(t)=0b X(0)=0
u@t)y=ob X(@® =0, u(x,00=0b T(0) =0

—1. 2 XQX):_ 2 2 =
| =1-p° P —X(x) p° b X&x)+p“X(x)=o0

rP+p?=0b r=zpi b X(x)=c,cospx +C,sinpx
X(@=o0P c;=0b X(x)=c,sinpx
XD =ob sinp=ob p=kpb | =1- k?p?

T&t) =1- K2p?

T(t)

Ta&t) +(K%p? - DT(t) =ob r> +k%p?- 1=0b r=+k%p?- 1
Tt +(k%p? - DT(t)ob r? +k%p?-1=0b r=+Vk%p?- 1

T(t) = ¢, in(VkZp? - 1) + ¢, cos(ykp? - 1)

T()=0b ¢, =0ob T(t)=c,sin(vk?p?- 1)
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Y S

u,=ob u, =1p u:X?+Ax+B
2
uo,t) =u(L,t)=ob B=o,A=-Lp u=X.Ly
2 2 2
L2
u(—,¥)=- —
(%) 5
1 a3 (39
u :W+V(X) P uxx :Wxx +V¢(X)1utt :th
. X . X X
Wxx+vqx):S|nE+th b va):snED v(x):-4S|nE+Ax+B
2 X 2
v(0)=3,v(p)=1Pp A=—,B=3P V(X)=-4sin—+—x+3
p 2 p
4 4,55 (40

Sl JEn Ap =0 byl cnlplo u(ng)to r® ¥ lila ez

LT @ ¥ 3]
3
u(r,q) = @ A,r"P,(cosq) = rcosq = rh(cosq)
n=o
A;=LA,=0,nt1l
3
u@ag)=ob g (Aa"+B,a ")P, (cosq)=ob B, =0,nt 1
n=o0
(a+B@?)P(cosq) =ob B, =-a°
u(r,q) = (r- a’r*)P(cosq)
3 w55 (41

(9) a5 (5) > bl

¥ _ C2r|2pzt
ux,t)y=a,+Q (A, cos(%x) +B, sin(%x))e >

n=1

¥
L=1,C=1b u(x,t)=a,+§ (A, cos(npx) + B, sin(npx))e n’p%t

n=1

¥
X(x,00=xP a, +é (A, cos(npx) + B, sin(npx)) =x ,- 1<x <1

n=1
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a, =0,A, =0,B, =2lesin(npx)dx :2('n_];n+l
u(x,t) = g. 2(_—J)nﬂsi n(npx)e’ et
n=1
2 455 (42
(9) w55 (2) o o
% =n,c=1

u(x,t) = 5 (A, cos(nt) + B, sin(nt) cos(nx) +a,

n=1

¥
u(x,o):cos3x:éAncos(nx)+a0 P a,=0A;=1,A,=0,n*3

n=1
u;(x,0)=o0b B, =0

u(x, t) = cos(3t) cos(3x)

of _ > o
d—2+lf =o0,l >ob r° '+l =ob r=+4li
X

f (x) = acos(x/I x) +Bsin(+/l X)
fq)=ob B=0b f(x)=Acos\l x
il 1 () =00S(VI X) )0 4 6325 ol cnlnly
f¢p)+f(p)=ob -A/I sin(/I p)+Acos(+/l p) =0
cot(VI p) =1 losg polie & by e saloles
2 an35 (44
(9) 5 (2) > ol

_.p_np
c=1—+t =%
lL 2

2 2
3 L np
ux,t)=a,+q Ae 4 cos(?x)

n=1
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U(X,0) =4COSpX - ZCOS3PX =a, + g A, cog(?x)
n=1

a,=0,A,=4 Ag=-2,A,=0;,nt 26

u(x,t) = 4e ot cos(px) - 2 9p’t cos(3px)

Uy = Vi - (SINDX, Uy = Vi

Vi - (8int)x- v, =hP v, - v, =h+xsint

u(o,t)=tbh v(o,t)+t=tbP v(o,t)=0
u@@t)=sintb v(lt)+sint=sintb v(t)=o0

u(x,0) =x(1- x) P v(x,0) =x(1- x)
u,(x,0)=0b v,(x,00+1=0P v,(x,00=-1

bl oo oo (4) 43S alply Sesl 0as olas (4) 43S 50 58 Ll
4 a5 (46

ol sas > (29) Jlo yo e p

1 a5 (47
C= 1’m =n
L
u(x,t) = 5 (A, cog(nt) + B, sin(nt)) sin(nx)
n=1
¥
u(x,0)=ob A,=o0b u= é_ B,, sin(nt) sin(nx)
n=1
¥
u;(x,0) = 2sinx :é_ nB,sin(nx) P B, =2,B,=0,n'1
n=1
u(x,t) =2sin(t)sin(x)
4 a5 (48

Up =Wy Uy =Wy, +y &X)

3
w, =4w,, +4y &x)+x b yﬂ(x):-%D y(x):-;—4+Ax+B
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y(0)=1P B=1P y(X):-Z+Ax+1
u,(p.t)=2=w,(p,t) +y&p) P y §p) =2
2 2

y‘(x):-%+A,yQp):2b A:2+%

3 2

X p
X)=- ——+@2+)x +1
y (X) 24 ( 8)

3 a5 (49
H(T(p) =0, Ty(r0) =0)q 4 bgye 550 bl wlaly

@n- 1
i 2

Fo(@ = cost 52 po) =052 V) =costn- D) fos ey

I :(n-El)z,n:lZ,Kiojij polie
2 a5 (50
(9) 45 (2) el Lol

&

¥
ux,ty=a,+Q A& "t cos(Nnx)

n=1
‘ A
Db Jol> 2 anS g =28 (23 L
2 435 (51

(9) 45 (1) el Lol
Iy =(%)2 =r’,L=p,n=123K
R\ (x) = sin(%x) =sin(nx)
2 a5 (52
(9) 5 (4) > ol
(@n-Dp

F,(x) = cos(Tx) , =12 K

P x-ct=-2L,x+ct=3L
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U(—,— ) =|I(SL) TI(-4L)|+= S)as
(55 =Sl SL T4+ 5Q, 9

f(x) =

x-%‘,g(x):x(L- X)

l_mu] ugl_u 0599 9 ..\45_...:‘;‘: oals Ja_m; J)J S yg—o A Xx=L,x=0 J? g,f ‘U(O,t):U(L,t):OJa.).‘J& u.ul.w‘).'

L L
f@BL)=f(L)==,f(-2L) =f(0) ==
(3L) =f(L) > (-2L) =f(0) >
L

3L _ 3L L _éLSZ 539 _ 13
0, 9(9ds= @ 9(s)ds= ) (L - s)ds= 87 Eld] =

L 5L,_1%_®
u(_v_)—————

2 2 26 12

4 w55 (54
Up =Wy, Uy = Wi +y ®&x)
WI :4Wxx +4y¢(X)+SinXD yqx):-%s’nx
1.
Y(X):ZSInX+Ax+B
5
y(©)=1y,(0)=-1p B=1, A:.Z
1. 5

X) ==sinx- =x+1

y (x) 2 2
2 a5 (55

0)5\)9..\35_..'::‘_?‘0 K Ja_m; o)_é C.))}_»a 4 X:1J5>5 z9) C))}.o aQ X:OJ? g,f ‘UX(O,t):U(lt):O u»l.w‘js

X:E,IZS,C:lP X - t:-E,xH:E
3 3 3

-'-x ,o£x<%

f=r, , °.90=0
= Zf£x<1
12 2

u(x,t):%[f(x+ct)+f(x- ct)] :El[f(x+t)+f(x- t)]

ut(x,t):%[fttxﬂ)- f&x - 1)]
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Ut\gla)—ig‘&?)' 1% ?)H
D2 dely> zo) Dyge 4 X=1 g 998 Do X =0 Jor O L

f‘(?)ﬂ“%' 4):”%):“1%):“1' %):fqé)zo

12 =t e =te =1 =

ut(é,S):o

4 41,55 (56
a3 3. 1. &
u(x,0) =sin®x =—sinx- =sin3x = q ¢, sin(nx)
4 4 n=1
3 1

Cﬁzx Csz'z, C,=0 nt13

u(x,t):%e'cz‘smx —e‘9"2‘sin(3x)
2 55 (57

9 N=0L. Syg0 as ohag ol ((9) 4SS (5) cdl) uy (- p,t) = Uy (p,1) sU(- pot) = u(p,t) Lol olool

towl by ol oo Fy(X) =A, cosnx + B sinnx
3
u(x,t) = a G, (t)(A, cosnx + B, sinnx)
n=o

858 18Uy =1 (3) cens yo el (B wib oo (3) cans sl s opl by

by aibios (12) iS5 (7) el alewety (0,Y) =0 (5500 Loy 5 0<y<¥ g0<x<¥ a4l
u(x,y) = §) AMwe ™ costwx)dw

dbos 5 Oy w b

R

u(x,y) = Q) E(P)e P cos(Px)dP
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